Jednoduché příklady na procvičování
	Úprava dvojčlenů
	
	Úprava dvojčlenů
	

	 (A + B)2 =
	
	(a – b)2=
	

	 (a + k)2  =
	
	(A – R)2=
	

	 (x – b)2 =
	
	(b + d)2=
	

	(n – 1)2 =
	
	(b + 1)2=
	

	(2 + m)2 =
	
	(2 – x)2=
	

	(2a + b)2 =
	
	(2a – b)2=
	

	(A + B) (A – B)=
	
	(3x + 2y)2 =  
	

	(2c + 4d)2  =
	
	(a + b ).(a – b)=
	

	(5x – 3y)2=
	
	(3A + 4N)2=
	

	k2  - m2  =
	
	B2  -  M2   =   
	

	16 – c2  =
	
	m2   – 9 =
	

	25B2   – 100H2 =
	
	36a2  – 100g2=
	

	M2  + 2MN + N2 =
	
	K2  - 2KR + R2 =                            
	

	x2  - 2xy + y2=
	
	m2 + 2mn + n2=
	

	64s2  + 16s + 1=
	
	49g2+ 14g  + 1= 
	

	36x2- 24xy + 4y2=
	
	25k2- 20kf+4f2=
	


Výsledky

	 (A + B)2 =
	A2 + 2AB + B2
	(a – b)2=
	a 2 – 2ab + b2

	 (a + k)2  =
	A2 + 2ab + k2
	(A – R)2=
	A2 – 2AR + R2

	 (x – b)2 =
	X2 – 2xb + b2
	(b + d)2=
	b 2 + 2bd + d2

	(n – 1)2 =
	n2 – 2n + 1
	(b + 1)2=
	b2 + 2b + 1

	(2 + m)2 =
	4 + 2m + m2
	(2 – x)2=
	4 – 4x + x2

	(2a + b)2 =
	4a2+ 4ab + 62
	(2a – b)2=
	4a2 – 4ab + b2

	(A + B).(A – B)=
	A2 – B2
	(3x + 2y)2 =  
	9x2 + 12xy + 4y2 

	(2c + 4d)2  =
	4c2 + 16cd + 16 d2
	(a + b ).(a – b)=
	a2 – b2

	(5x – 3y)2=
	25x2 – 30xy + 9 y2
	(3A + 4N)2=
	9A2 + 24AN + 16N2

	k2  - m2  =
	(k + m).(k – m) 
	B2  -  M2   =   
	(B + M) . (B – M)

	16 – c2  =
	(4 + c).(4 – c)
	m2   – 9 =
	(m – 3) . (m + 3)

	25B2   – 100H2 =
	(5B + 10H).(5B – 10H)
	36a2  – 100g2=
	(6a – 10g).(6a + 10g)

	M2  + 2MN + N2 =
	(M + N)2
	K2  - 2KR + R2 =                            
	(K - R)2

	x2  - 2xy + y2=
	(x – y)2
	m2 + 2mn + n2=
	(m + n)2

	64s2  + 16s + 1=
	(8s + 1)2
	49g2+ 14g  + 1= 
	(7g+ 1)2

	36x2- 24xy + 4y2=
	(6x – 2y)2
	25k2- 20kf+4f2=
	(5k - 2f)2



